

Princy-Agreement No

Supplementary Agreement No:-Name of Works AGREEMENT (

:- 55 MBDY 2021-22

1-55 MBD/2020-21

:- Construction of Road With 5 Year maintenance of Package No-MR-N/2019-20 Belsand/05 Revised Supplementary Agreement Under MR-3054 Scheme.

1. Barharwa To Rajpur Path

2. Narha Pataria To Nankar Path

3. PWD Road To Rampur Kanth Path

Name of Agency

:- Ashok Kumar Singh Ward No-04, Shanti Nagar Dumra, Sitamarhi.

Date of Start

Date of Completion

E.M. Deposit

:- 80,000000

This Agreement Made on 16:11:2024.....between Executive Engineer, Rural Work Department, Works Division, Belsand of the one part and Ashok Kumar Singh, Ward No-04, shanti Nagar, Dumra, Sitamarhi. Whereas the Employer is desirous that the contractor execute the Works under M/R 3054 Scheme.

Ashor Jeyman Sigh

Executive Engineer

R. W. D. Works Division

[6][1]27

[6][1]27

Construction of Road With 5 Year maintenance Road from Package No-MR-N/2019-20 Belsand/05 Revised Supplementary Agreement Under M/R 3054 scheme And the employer has accepted the bid by The Contractor for the execution and completion of such works and remedying of any defects therein at a cost of rupees 37,89,789=00 (B) Thirty Seven lakly Eighdy Nine though nd Seven foundred Eighty Mine only.

NOW THIS AGREEMENT WITNESSETH as follows:

1. In this Agreement, words and expression shall have the same meanings as are respectively assigned to them in the conditions of contract thereinafter referred to, and they shall be form and be

read and constructed as part of this agreement.

2. In consideration of the payments to made by the Employer to the Contractor as herein after mentioned, the contractor hereby covenants with Employer to execute and complete the works and remedy any defects therein in conformity I all aspects with the provisions of the contract.

3. The Employer hereby covenants to pay the contractor in consideration of the execution and completion of the works and the remedying the defects wherein the contract price or such other sum as may become payable under the provisions of contract at the times and in the manner prescribed by the contract.

4. The following documents shall be deemed to form and be read and

constructed as part of this agreement, viz.

- (i) Letter of Acceptance
- (ii) Notice to proceed with the works
- (iii) Contractor's Bid
- (iv) Contract Data
- Special condition of contract and general conditions of (v) contract.
- (vi) Specifications
- (vii) Drawings

Aslok Kymer Sigh

- (viii) Bill of Quantities and
- (ix) Any other document listed in the contract Data as froming part the contract

In witness, where of the parties there to have caused this Agreement to be executed the day and year first before written.

The common seal of

Was hereunto affixed in the presence of

Signed, sealed and Delivered by the said Askok Isyman Sigh

In the presence of

Binding signature of Employer

Binding signature of contractor.

Asket Kumer S. Fl

Executive Engineer
R. W. D. Works Division
Belsand

AGREEMENT

- 1. Supplementary Agreement No:-55 MBD/2021-22
- 2. Primary Agreement No :- 55 MBD/2020-21 Dated-15.06.2020
- 3. Name of Work
- :- Construction of Road With 5 Year maintenance Package No-MR-N/2019-20 Belsand /05 Revised Supplementary Agreement Under M/R 3054 Scheme.
- A. Barharwa To Rajpur Path
- B. Narha Pataria To Nankar Path
- C. PWD Road To Rampur Kanth Path
- 4. Name of Agency
- :- Ashok Kumar Singh Ward No-04 Shanti Nagar Dumra, Sitamarhi
- 5. Primary Agreement Value :-
 - A. Construction Cost :- 1,92,47,387.00
 - B. Maintenance Cost :- $\frac{73,88,735.00}{2,66,36,122.00}$
- 6. Deviation/Variation Amount:-
 - A. Construction Cost :- 36,67, 872.00
 - B. Maintenance Cost :- 1, 21, 917.00
- 8. Work Allotted Rate :- (0.10 % Below)
- 9. Supplementary Agreement Value: 37, 89, 789. w
- 10. Total Agreement Value :- 3, 04, 25, 911. 10
- 11. Performance Security Deposit: 80,000
- 12.B.G. No. / Bank :- FD union Bank of India
- 13. The Employer shall retain S.D. of (8 %) of the amount from each payment due to the contractor until completion of the whole of the construction work. No security deposit / retention shall be retained from the payment for routine maintenance of work.
- 14. Date of written order to commence:
- 15. Time required for the work from date of written order to commence:
- 16. Total No. of Items:

Note: MBD Rules Terms and condition will be applicable.

ASLOK Kymar Sigh Contractor

Executive Eng R.W.D. Works Division
Belsand

Frander Inviting Authority: Engg-in Chief RWD Patna

Name of Work: Construction of Road & CD Works from Revised Estimate For Narha Pataria To Nankar Path Under MR

Centract No: Civil Works/

	Description	SCHED	ULE OF V	VORKS		****
SI. No.	Description of work	No. or Qty.	Unit		Estimated Rate	Rs. P
				Figure	Words	
1.00	Clearing and Grubbing Road Land (By manual means) including uprooting wild vegetation, grass, bushes, shrubs, saplings and trees of girth upto 300mm, removals of stumps of such trees cut earlier & disposal of unserviceable materials & stacking of serviceable materials to be used or auctioned upto a lead of 1000 m including removal and disposal of top organic soil not exeeding 150mm in thickness as per technical specification clause 201.1 and direction of E/I	1.04	ha	49496.70	Rupees Forty Nine Thousand Four Hundred Ninety Six And Paise Seventy Only	51476.57
2.00	Construction of subgrade and earthen shoulders with approved material obtained from borrow pits with all lifts and leads, transporting to site, spreading, grading to required slope and compacted to meet requirement of Table 300.2 with lead upto 1000 m as per Technical Specification Clause 303.1.	2184.00	Cum	176.75	Rupees One Hundred Seventy Six And Paise Seventy Five Only	386022.00
3 00	Construction of granular sub-base by providing well graded material, spreading in uniform layers with motor grader on prepared surface, mixing by mix in place method with rotavator at OMC, and compacting with smooth wheel roller to achieve the desired density, complete as per Technical Specification Clause 401.	1	Cum	2143.20	Rupees Two Thousand One Hundred Forty Three And Paise Twenty Only	505095 78
4.00	Providing, laying, spreading and compacting stone aggregates of specific sizes to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with three wheel 80-100 kN static roller in stages to proper grade and camber applying and brooming, crushable screening to fill-up the interstices of coarse aggregate, watering and compacting to the required density Grading 2 as per Technica Specification Clause 405.		Cum	3867.14	Rupees Three Thousand Eight Hundred Sixty Seven And Paise Fourteen Only	574127.0

ASLOK KYMEN Sigh.

M

Yu

Executive Engineer

R. W. D. Works Division

Belsand

		A A STATE OF THE A ST	AND AGENT OF	este este alla	Estimated Rate	AMOUNT Rs. P
	Description of work	No. or	Unit			Ks.
).	n var en la la propia de la companya	Qty.	1002	Figure	Words	1004379.39
5.00	Providing, laying, spreading and compacting stone aggregates of specific sizes to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with smooth wheel roller 80-100 kN in stages to proper grade and camber, applying and brooming, stone screening to fill-up the interstices of coarse aggregate, watering and compacting to the required density Grading 3 as per Technical Specification Clause 405.	281.29	Cum	3570.56	Rupees Three Thousand Five Hundred Seventy And Paise Fifty Six Only	155087.11
		2750.60	Sqm	41.35	Rupees Forty One And Paise	133001
6.00	Providing and applying primer coat with Bitumen emulsion (SS-1) on prepared surface of granular base including cleaning of road surface and spraying primer at the rate of 0.70- 1.0 kg/sqm using mechanical means as per Technical Specification	3750.60	Sqiii		Thirty Five Only	57378.1
	Clause 502. Providing and applying tack coat with	4092.60	Sqm	14.02	Rupees Fourteen And Paise	• 5/3/0.10
7 00	bitumen emulsion using emulsion pressure distributor at the rate of 0.25 to 0.30 kg per sqm on the prepared granular surface treated with Primer and clened with hydriloc broom as per technical specification aclouse 503.				Two Only	844793.5
8.00	Providing, laying and rolling of close-graded premix surfacing material of 20 mm thickness composed of 11.2 mm to 0.9 mm (Type-A) or 13.2 mm to 0.9 mm (Type-B) aggregates using penetration grade bitumen to required line, grade and level to serve as wearing course on a previously prepared base, including mixing in a suitable plant, laying and rolling with a three wheel 8-10 kN static roller and finishing to required level and grades as per Technical Specification Clause 509.	4092.60	Sqm	206.42	Rupees Two Hundred Six And Paise Forty Two Only	
9.00	Providing and applying tack coat with bitumen emulsion using emulsion pressure distributor at the rate of 0.25 to 0.25 kg per sqm on the prepared granular surface tretaed with Primer and clened with hydriloc broom as per technical specification aclouse	19500.00	Sqm	11.76	Rupees Eleven And Paise Seventy Six Only	229320
16.00	503. Providing and laying semi dense bituminous concrete with 100-120 TPH batch type HMP producing an average output of 75 tonnes per hour using crushed aggregates of specified grading, premixed with bituminous binder @ 4.5 to 5 per cent of mix and filler, transporting the hot mix to work site, laying with a hydrostatic paver finisher with sensor control to the required grade, level and alignment, rolling with smooth wheeled, vibratory and tandem rollers to achieve the desired compaction as per MoRTH specification clause No. 508 complete in all respects.		Cum	10336.10	Rupees Ten Thousand Three Hundred Thirty Six And Paise Ten Only	Ywsh xecutive E

ASLOK Kymer Sitz

R. W. D. Works Division Belsand

SI.	Description of work	No. or Qty.	Unit	Estimated Rate		AMOUNT Rs. P
		313 V 1101	I Kurawa	Figure	Words	
11.00	Reinforced cement concrete M15 grade kilometre local stone of standard design asper IRC:8 fixing in position including painting and printing, etc as per drawing and technical specification clause 1703. i) km Stone	6.00	nos	2336.54	Rupees Two Thousand Three Hundred Thirty Six And Paise Fifty Four Only	14019.24
12.00	ii) 200 m Stone	21.00	nos	636.96	Rupees Six Hundred Thirty Six And Palse Ninety Six Only	13376.16
13.00	Retro-reflectorised Traffic SignsProviding and erecting direction and place identification retro-treflectorised sign as per IRC:67 made of encapsulated lens type reflective sheeting vide Clause 1701.2.3, fixed over aluminium sheeting, 2 mm thick with area exceeding 0.9 sqm supported on mild steel angle iron posts 75 mm x 75 mm x 6 mm, 2 Nos. firmly fixed to the ground by means of properly designed foundation with M-15 grade cement concrete 450 mm x 450 mm x 600 mm, 600 mm below ground level as per approved drawing and Technical Specification Clause 1701.	1.92	Sqm	12384.34	Rupees Twelve Thousand Three Hundred Eighty Four And Paise Thirty Four Only	23777 93
14 00	Providing and fixing of retro-reflectorised cautionary, mandatory and informatory sign as per IRC:67 made of encapsulated lens type reflective sheeting vide Clause 1701.2.3 fixed over aluminium sheeting, 1.5 mm thick supported on a mild steel angle iron post 75 mm x 75 mm x 6 mm firmly fixed to the ground by means of properly designed foundation with M15 grade cement concrete 450 mm x 450 mm x 600 mm, 600 mm below ground level as per drawings and Technical Specification Clause 801 i) 600 mm equletral & triangle	80.00	nos	3568.35	Rupees Three Thousand Five Hundred Sixty Eight And Paise Thirty Five Only	285468.00
15.00	600 mm circular	8.00	nos	3778.36	Rupees Three Thousand Seven Hundred Seventy Eight And Paise Thirty Six	30226.8
16.00	600 mm x 450 mm rectangular	28.00	nos	3649.24	Only Rupees Three Thousand Six Hundred Forty Nine And Paise Twenty Four Only	102178.7
17.00	Reinforced cement concrete M15 grade boundary pillars/local stone of standard design as per IRC:25, fixed in position including finishing and lettering but excluding painting as per drawing and Technical Specification Clause 1704	108.00	nos	507.74	Rupees Five Hundred Seven And Paise Seventy Four Only	54835.9
18.00	Printing new letter and figures of any shade with synthetic enamel paint black or any other approved colour to give an even shade as per drawings and Technical Specification Clause 1701	792.00	СМ	0.51	Rupees And Paise Fifty One Only	403.93

ASLOK Kymer Sigh

6/

Yu

Executive Engineer

12) R. W. D. Works Division

Belsand

AMOUNT Rs. P	timated Rate	E	Unit	No. or City,	Description of work	SI. No.
	Words	Figure 1	15 1	a.y.		
208078.00	upees Eight Hundred And aise Thirty Only		Each	260.00	Planting of trees by the road side (Avenue trees) in 0.60 m dia holes, 1 m deep dug in the ground, mixing the soil with decayed farm yard/sludge manure, planting the saplings, backfilling the trench, watering, fixing the tree guard and maintaining the plants for one year	
764816.00	tupees Seven Hundred hirty Five And Paise Forty Only		Sqm	1040.00	Providing and laying of hot applied thermoplastic compound 2.5 mm thick including reflectorising glass beads @ 250 gms per sqm area, thickness of 2.5 mm is exclusive of surface applied glass beads as per IRC:35. The finished surface to be level, uniform and free from streaks and holes.	20.00
37545.36	Rupees Nine Thousand Three Hundred Eighty Six And Paise Thirty Four Only		nos	4.00	Providing and fixing of typical MMGSY informatory sign board with Logo as per MORD specifications and drawing. Three MS Plates of 1.6 mm thick, top and middle plate duly welded with MS flat iron 25mm x 5m size on back on edges. The lower plate will be welded with MS angle iron frame of 25mm x 25mm x 5mm. The angle iron frame of the lower most plate and flat iron frame of middle plate will be welded to 2 nos. 75mm x 75 mm of 12 SWG sheet tubes posts duly embedded in cement concrete M-15 grade blocks of 450mm x 450mm x 600mm, 600mm below ground level. The top most diamond plate will be welded to middle plate by 47mm x 47mm of 12 SWG steel plate tube. All M.S. will be stove enameled on both sides. Lettering and printing arrows, border etc. will be painted with ready mixed synthetic enamel paint of superior quality in required shade and colour. All sections of framed posts and steel tube will be painted with primer and two coats of epoxy paint as per drawing Clause 1701 and Annexure 1700.1	21 00
148093.1	Rupees Five Thousand Seven Hundred Thirteen And Paise Forty Seven Only	5713.47	Cum	25.92	Brick masonry work in cement mortar 1:3 in parapet excluding pointing and plastering as per drawing and technical specifications Clauses 600, 900 and 1208.4	22.00
30982.6	Rupees One Hundred Seventy And Paise Seventy Six Only	170.76	Sqm	181.44	Plastering with cement mortar (1:4) on brick work in sub-structure as per Technical Specifications Clause 613.4 & 1204.	23.60
50400.8	Rupees Ninety Five And Paise Sixty Three Only	95.63	Sqm	37.7	Painting two coats including primer coal after filling the surface with synthetic ename paint in all shades on new, plastered concrete surfaces as per drawing and Technical Specification Clause 1701	24.0
291633.0	Rupees Two Lakh(s) Ninety One Thousand Six Hundred Thirty Three Only	291633.00	Year	1,00	Maintainance for 1st year	25.0

ASLOS KYMEY Sigh

6

Executive Engineer

R. W. D. Works Division

Belsand

AMOUNT Rs. P	Estimated Rate		Unit	No. or Qty.	Description of work	SI. No.
534914.00	Words	Figure	States	THE PROPERTY OF		
726897.00	Rupees Five Lakh(s) Thirty Four Thousand Nine Hundred Fourteen Only	534914.00	Year	1.00	Maintainance for 2nd year	26.00
	Rupees Seven Lakh(s) Twenty Six Thousand Eight Hundred Ninety Seven Only	726897.00	Year	1.00	Maintainance for 3rd year	27.00
563738.00	Rupees Five Lakh(s) Sixty Three Thousand Seven Hundred Thirty Eight Only	563738.00	Year	1.00	Maintainance for 4th year	28.00
1302917.0	Rupees Thirteen Lakh(s) Two Thousand Nine Hundred Seventeen Only	1302917.00	Year	1.00	Maintainance for 5th year	29.00
1,40,30,830.09					Total Estimated Cost in Figures	
1,40,308.30					1% Labour	
16,83,699.6					12% GST	
1,58,54,838.0	1,58,54,838.00				Quoted Amount	
housand Eigh	ight Lakh(s) Fifty Four 7 ed Thirty Eight Only	ore Fifty E Hundr	One Cr	Rupees (ate in Words	uoted Ra

13/9/21

विभागीय विन्तलन समिति से दिनांक 7.06.21 की स्वीकृत अभिण्यात प्रमुख के प्रांक मु० अ० - ०4 (मु०) 3054 - ०4 - 56 | 2 ०२ 1 - 1872 अनु ० दिनांक 2.07.20 द्वार सम्पृष्ट एवं मुख्य अभिण्या - ०३ के प्रशंक मिन अल - ३ - तक स्वीक - 10 - 45 | 2021 5534 अनु ० दिनांक 29.07 २०२ द्वार तिकानीकी स्वीकृत प्राप्त होने के उपरान्त पुनरी क्षित परीमाण विष की स्वीवृति विस्ति राखि। (१६ 1,58,54,838 = ००) एक करी ३ अन्ठावन लाय न्यांकन हामार आह सी अठितर रूपणे हैं विभागी की अन्यान एवं द्वारों के तहत प्रशंन की स्वांत हो।

ASLOK Kymer Sigh

Ywom Is III y Executive Engineer Is III y Executive Engineer Belsand